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MaTkm?, 2 Tala) Tfaha ROMNEE, T+=100, ETNIEVLVEK
1km?=(1000000m?+100)=10000a
1km?=(10000a+100)=100ha

1km?*=1000000m?

ICAD. . HZEZD [1034]

(1) 10000cm? = m2 (2)100m2 = 1 a

(3) 10000m?2 = 1 ha (4) 1000000 = 1 km?2
(5) 5m2 =| 50000 [cm? (6) 2a=| 200 |m?2

(7) 3000m2 = 30 a (8) 7Tkm2 =| 7000000 |m?2

O rommERHLS (1034
(1) 2 TAkm . EB7TkmO R A OETE

m2 280000 | 3 2800 |ha

(2) 7z7C800m. #3km (3000m) D RA K DEIE

2400000 m2 24000 |3 240 ha
(3) ENHDEIE 800m -...
'5 400m.
800m ;
: 600m
880000 m?2 8800 a 88 ha
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HA EE HA BE z40)

(1B ITmOEAFOAEREK. 13 10cmOEFFHOERBOFETYT H

£ (100x100)+(10%x10)=100 %z 1001%

HA HE

) 1LH1E50MOEFHOEIEI. FaTTH

% 150x150=22500 %Kz 225a

(3) @HEH12.6haDESHHHYET.
FTDESAETOOMET BE HOESEAMTT H

& 126000-+700=180 %z 180m

(4) BEORI. ATI0M. 1 TMOEFHTT. COEFHD. & OOVE

BHOEHIE. AN TT D, VRO, TATIMTT

A (10—2)x(17—1)=128 %% 128m?2

(5) EORIE. 7=T10m 1 TmMOESFHTF. COEFHD. &8 OO~

MADEEIL. AMPTT P BNBOE . 1mTT

X (10—1)x(17—-1)=128 %% 144m?2
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